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Note : Answer all questions. All questions carry equal 

weightage. 

1. Answer the following question in about 
1000 words : 

What is learning ? Explain the major differences 
between behaviouristic and cognitive views of 
learning. 

OR 
How can good study habits be developed in 
children ? Discuss with suitable examples. 

2. Answer the following question in about 
1000 words : 

Explain the causes for inattentiveness among 
children. Suggest any one activity which can 
develop multiple attention skills in children. 

OR 
Explain the ways through which social and 
emotional problems of children with physical and 
sensory impairment can be reduced. 
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3. 	Answer any four of the following questions in 
about 250 words : 

(a) What are the forms of learning identified 
by Gagne ? 

(b) What is meant by modelling ? How 
modelling assists children to become 
effective communicator ? 

(c) Explain the role of 'memorization. 

(d) What can a teacher do for enhancing writing 
skills in children ? 

(e) Discuss any two remedial strategies for 
dealing with learning problems. 

(f) Explain the behavioural, cognitive and 
humanistic view on motivation. 

NES-103 	 2 



L.7.1.7r.-10.11 

Hii qq 	Timut-tri. 	) 
TINIT 

ctii-Gue, 2014 

• 	: 3111174 * rMt 1-11 4  kk►1-1  

wfq : 3 4u2 	 37filWUTT 	T : 70% 

Vas : ?rift 	 drl< l # w•t .  W7' WORT foul t 

1. 11-1 	tgd 	dr1( r -TTITTT 1000 -q.F 	\)-R 
aftrrrg -4;Ert t? 31-F arm 	otmilich 	411-11(-4-Ich 
f4-4r-cart-1311 7 Trii-gi3 	 RI 

3TPT9T 

1.11 4 yea 	3T-4- 	1.)k. 1.144m 	Trwth 
t ? zEpro dqWul. -ffrEr Tcrtz 

2. (id 	 w-1 'WE dit -ff7T9FT 1000 IGq.). 	q \TR! 

(0111(c14)% 	 I 
c14 	ct) 	 fqi:r4 .1-.11.  4 fq-faIT 

ktir Ark'  A rcichRicl 	, -1.4) 
aTTIWT 

Zi T44 ogits11•41-4Rfil4 	(4) 1,E4rft 3-TwraT 
.1-.11 	11 	Ta 	t f*---zrr 

-qrt 

NES-103 
	

3 	 P.T.O. 



3. 	 1A-79 4 .4-t -97 -779'f t apt 

d7R c11 1 9-71 250 	14-k I 

(a) +)+I 	3FTTLT t- -Off 

(b) iitc\k-1, f (Modelling) 1 all 3-T 2f t? 
•q•-11. 	-9194T TItTEFF -9-4 14 	chtdi t? 

(c) 3-1-N-74 	-wT4 *1-  lifTrTT 	c),-ARsql 

(d) -q-,51 > c -u9. 	 t 
.N1 mt (--iondrt? .  

(e) 31-rwrgi Tri:Prraff t 	t Sri 

34-ciltIcHch 	 -r44 

(f) -1)77 TR 041011k1c4-1011, (-111-110-Ich 

fad 011 oiksii 

NES-103 	 4 


	Page 1
	Page 2
	Page 3
	Page 4

